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1. 2% o OB y = y(x) 122\ COMD TR AT, (410 45)

(1) (y+ 1)y +z=1 (2) ' cosx — ysinx = sin 2z
(3) zyy' = (y* — 2?) (4) (2z + e¥)dx + xze¥dy = 0

2. ZH o O y = y(x) IZOWT D 2 BERIEM Y HRERZ MR IT. (15 470)
y" +y = 3cos2x
3. Bt OB f(t) =t DT T T AEWE, TT T ABMONRELDT, ERITL
o TEHER L. 272 L, 777 AEHBOERIT
F(s) = / e~ £ (1)t
0

ThV, 77, s>0E LTk, (154)

4. BEt OB f = f(t) IZ2W T OWIERR—E
') —Af' ) +4f(t) =€, f(0)=0, f(0)=0

r, 777 AEWE TR, (15 5)

5. ASHt DB f = f(), g = g(t) IZ oW T DA HEER
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{ F1(8) — 2 (t) + 3g(1)
2f(t) + g'(t) — g(t) =

RS £(0) =8, ¢g(0) =30 & T, (15 4)
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